ANNOUNCED QUIZ #5 — ME 3030 — Section 001 — Fall 2025
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This is an open book quiz. You may use a four function calculator. An unsigned honors pledge will

result in a zero.

1. A flow of steam enters a compressor as a saturated vapor at 1.5 bar and has its pressure
increased to 10 bar. If the compressor is adiabatic and operates in steady-state, determine
the minimum power input required to compress the steam in units of kJ per kg of steam
flowing, and the exit temperature. You may assume kinetic and potential energy effects

are negligible.
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